e

SBEH

[l

Al 5

]

i

KPBEE
BXEEH

L2k

@ : ROHSHEL X EL=M A | ROHSIEL AT R /= fo

CP-30-BC-CP-30-BN #8%. [RE. B8, #E
Wi @ © € CP-30-BC
3 P
RILbF v .
PAT.PEND. 0 Iy ILUI1T (1~2ERUBIEFITRFINTE
F9,)
(307 & GACAVE D7 :3=2)]
o REFEBAR (AEHDI~2EITREL. )
o[ikE (ERZHEE) .
t # et HE:/RUTOELY(PP)
o fZ # & PARU—(5Y7/1)- TS5y
B & e+ai—ETILOBODRILNEINEL
m H eiZELEER
CP-30-BC-20-lvory CP-30-BC-8-Black e £ oTJSVIELBMEBULEI.BRAGELIEILY,
276 2 e 2AFULABWF by T (B-1129) HDET,
L4 Lo 943R—IEBIRLIZEL,
MK ek  FR:EBAEKE (PP)
, ofF i BIRFE (5Y7/1) . BE
—_— % emABIBINEE AILAES
PG — = T OHMER- - HEEN
E #F F ehWAFEBFR. HIEEM.
t o ZTEREWHE (B-1129) F=&o
ES 943 MW,
Ny Xt
FER
= O ym o . — J—F K
ufre WEE IS Ros | cap | Ly | Lo |op| MxESF | ¢ | HEHE() R a7
({EEE FPARU— £F& | J5v0 2t BAEDEAED : WEEW | gxe | @me
£ A CP-30-BC-8-lvory | CP-30-BC-8-Black | ® | @ || 3D 14.5] 18 | M8X1.25 0.8 21572 | 23962
CP-30-BC-10-Ivory | CP-30-BC-10-Black | ® | @ || 3D 45 7655 20 | M10x15 1 21573 | 23963
~ CP-30-BC-12-Ivory | CP-30-BC-12-Black | @ | @ |200|0 18.5] 22 [M12x1.75| °8 1.5 21574 | 23964
1" CP-30-BC-16-Ivory | CP-30-BC-16-Black | ® | @ |200|30 > [205] 26 | M16x2.0 2.5 21575 | 23965
CP-30-BC-20-Ivory | CP-30-BC-20-Black | ® | @ ||| 5.5 [24.5] 30 | M20X2.5 4 21576 | 23966
‘ CP-30-BC-22-Ivory | CP-30-BC-22-Black| ® | ® |3D|3D| 6 |27.5| 32 | M22X25 45 21577 | 23967
é CP-30-BC-24-Ivory | CP-30-BC-24-Black | ® | @ |00 6.5 [29.5] 34 | M24x3.0 5.9 21578 | 23968
CP-30-BC-30-Ivory | CP-30-BC-30-Black | ® | @ |0(nm| 7 [36.5] 40 | M30X3.5 9.4 21708 | 23969
» CP-30-BC-36-Ivory | CP-30-BC-36-Black | ® | @ |0]0| 7.5 [39.5| 46 | M36x4.0 | 1.2 13 22930 | 23970
‘ CP-30-BC-42-Ivory | CP-30-BC-42-Black| ® | @ |0|3D | 8.5 [45.5] 52 | M42x4.5 | 1.2 24506 | 24516





